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The figures in the margin 1nd1cate full marks
 for the questlons
Answer_either in English or in Assamese.
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I. (a) Answer the following as vdlre.cted: 1x5=5
@)

was the first chairman of National
Income Comrmttee formed in 1949 to
estimate Indlas National Income.

- (Fill in the. blank)
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(i) The headquarters of World Trad

Organisation (WTO) is located in —

(Fill in the blank).
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(iii) India is a founder member of G-7. (Stat
true or false). |
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(iv) G-20 Summit in the year 2017 was hel
in . (Fill in the blank). _
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(v) The 12th five year plan of India
~ . (Fill in the

- embraces the period
blank).
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(b) Answer the following : ' | 1'><5=5
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(i) State one basic objective of Monetary
Pohcy of India.
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(ii) Mention one of the major targets of 12th
five year plan of India.
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(iii) Write the full form of SAFTA.
SAFTAS s el fei |

* (iv) What is the basic aim of WTO ?
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(v) From which year the World Bank has
started its functioning ?
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Write short answers (within 30- 35 words each)
2%5=10
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(a) Give two measures to mcrease capltal
formation in India.

(b) State two major causes of low rate of saving

in India.
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(c) State any two objectives of recent Demoneti-
zation process undertaken by the Government
of India.
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(d) State two objectives of SAARC.
SAARC(R)T 461 Sy Sl =41 |

(¢) Mention any two export-promotion measures
to overcome Balance of Payment crisis of |
India.
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Answer any four from the followmg (w1th1n 200
words each) : 5x4=20
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(a) Briefly analyse the various economic factors
determining business environment in India.
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(b) Write a short note on macro components of
business environment.
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(¢) Briefly explain the agricultural sector contri-
bution to India's National Income.
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(d) Write about the growth of tourism 1ndustry

in Assam. ’
SRR |

(e) Write a short not‘e} on prospect of food
processing industry in North Eastern region.
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(f) Give é brief note on- ASEAN.
ASEANS Rac o3¢ (Bl ot
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What are the basic causes of rural unemployment in 4
India ? Mention some government policies imple-

mented to eradicate this problem. 5+5=10
OINSY AW NI TR ekl IRPTIE F Fe
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Or/ SR

What is Parallel cconomy ? What are the factors

responsible for generation of black money in’

India ? State government measures to control
parallel economy in India.

| Tl
@Qwﬁeamw%ﬁwwmaw@%@aw
RUSEERREE 2 IR 2 s oS feh i T e

Explain briefly various merits and shortcomings -

of Fiscal Policies of Government of India.
54+5=10
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What are the various forms of foreign capital in

~ India ? Explain the need for foreign capital in
" India, |

3+7=10
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2+4+4=10 |
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What do you mean by international business envi-
ronment ? Analyse various problems of foreign trade
in a developing country like India. 2+8=10
IS AfAfers iR IFe & I& 2 ey
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Analyse various objectives and functions of the
Internatioanl Monetary Fund. : +5=19
HICETo= 91 | ‘
What are the causes of slow pace of industrialisation

in North Eastern India ? Suggest some measures L
for improvement of this situation. 6+4=10 _
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Or/ g

Explain the problems and prospect of silk
industry of Assam. 5+5=10
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